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D Find the exact values of each of the following expfessions.
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2) (3-points) G1ven the vectors ¥ =<12, —6 > andv = 41 ] ﬁnd the magmtude and

the degree measure of the duectxon angle of the vector w= %u -3v. .
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3) (3-points) If the horizontal and vertical components of a vector v are respectlvely 5
and —12, find the unit vector. in,the opposite direction of v.
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4) (7-points) Shown in the figure is the ellipse with one vertex (1, 2) and <I)ne.endpoint

: (-=2,3) of the minor axis given. Answer the following questions about this ellipse.

a) Find the center.

"U ¢1,;cmm:enw-

C yA

b) Fmd the othex vertex. -

J(-2)=3

-§(1, 2)
() Pf‘)ﬂ;f - 'Uw 0”’6’ verlex is 1‘5)2’ |
' “c)" Find the lengths of the ma)or and the mmor axes.
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D erte the equatlon of the ellipse in standard form.

o 5) (3-po1n;s) Given pro]wv =% and “v“— ~ ﬁud the radlan measure of the smallest

' posmve angle between the vectors v and w
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6) (3-points) Find the equatlon in standard form, of the parabola that has vertex.(1, 2)
has its axis of symmetry parallel to the x — axis, and passes through the point (3,6).

The Farab la OPCJ!S b H‘c f’SH: Uiu_s the
c’jua}wn i Lg,w) f‘*PCI—%) )
-1
A - By enp lx
U 4 thc Pom} (3,6) Lies on ’fhc (K“‘Ph
(/ pt)—'ﬂ (6-2) =up(3-1) 16=9p DP=2
() pt L -Thes, the equabion s (y9Pa )

7) (8- pomts) Answer the followmg questrons about the hyperbola given by the equatron

A
) e b
5 1 0 a=3) b=y
. Ce=§

a) Find the center.

hop =B R
b) Find the vertices. , \_ 1 ' )&

/|
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: - ' , D /.
( | Of\/ ("l') K(_SZ')& A \ - ’ /
! VN TAM
¢) Find the foci. - N [ )/ :
| N LD A R
( ) P -~ 5 ) AR x
: /1T 1 1N\ .
d) Find the eccentr101ty . a0 ‘ \l |
\ 8”’:5’ : JA Y
k'\ P{' T .3 s /4 : { : \\\
A4 AN
~ €) Find the asymptotes Ly ‘ \\

\1 P‘f)“' y,] =% ((X+?)

‘ ‘ t) Find the length of the Transverse axis.
(/ }7% \ - =la=6

g) Sketch the graph

(2 yl5\
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8) (4-points) Solve the fol]bwing systém'of equations by the elimination méthbd.

Wixiwf5y=7 --{Egl) |
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10) (3-points) Find an equation of the set of pomts that are equally distant from the line
y=-6 and the pomt (-2,1.

L‘Z Pf\«a—« JT/ ) rex+2)* ,y+4 | .' ‘”\'Lﬁ#— )
‘ 2 (’f"l)+(X-r2) ’U-HQ — i T
U Pt\ 2 ) - 1y+\+(>(+ 2) ;5y+;2/+3{ |

F=-4 1 2

= | x+9) =14y +38

11) (4-points) If P is any pomt on the elhpse gwen by 9x +4yt-54x +32y + 109 O “then
" find the sum of the distances from P to the foci of the elhpse :

\ Pﬁ” ?(x‘ X +La(y+gy)’ 109

9 ( ¥ éX—PQ) ‘i‘i"(}/ +§Y+l£):_—/ﬂ?%g/+54
ee\wbu—w Caln) e

(x-3)7 W)l
0 : o |
| ~ a=3 = 2a=6 =the sum ot the Jtvsla_m,e
kl VHBF & | bom P Ho the foct

12) (4-points) Find, in interval notation, the domain and the range of the function -

f(x)=—£+—;~cos"‘—1-(x;1).

23 - (og
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by dorny

13) (5-p91nts) Solve the trigonometric equation: : —\ /‘U 79 ‘17\
cos6x —~cosdx =0 , 0°<x <180° 2 : ‘
Ls2(3x)-Cs3¥=0 = 96’5 3%~ 653%&'% o0 £ 3L £5U0
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) k=t = X:@ =160° 2. 5_;__=to°, ye’ s’a"; 1203 160°
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